2014-F-001C



B®

Contents

P.3
XAC
SMROUR EiE Rk
P.9

Tl

XVCDKOC
TR

P.13

XVODKOC

FHEHNENRESE

P.21

XWFC
FEXFHEZAN

P.6
1l
XEC
HiEsEsk
P.10
XVDDKOC
LS
P.14
XRIC
TR iRk

P.7
XKC
Hi@ERmiR ek
P.11

XVADKOC
oA E i E ik

P.16

XRLDKOC/XRSDKOC
R T EEL

Gates EMB

P.8
XVBDKOC
TRE R

P12

Ly

XEDKOC
iRAREEREL

P.20

XVSCHC
1k



Gates EMB

sk
Couplings

1 . [ 1
SMB i B iE L Male Stud Couplings
iTE54KED: XAC /WD order code: XAC / WD
SHORYL Stud thread:
BSP 3l B RGBT B % H ik« B.S.P, parallel with captive seal:
NBR* (e.g. Perbunan) NBR* (e.g. Perbunan)
; Series
Pipe B
O.%. A3 . r\]Ne'ghté Product description Gate code
gg PNOS S L hd @ s 7=tk HIAHD
9]\2 EE BEHES SRS -4
EAh
6 14 14 23 85 14 8 G 1/8”A 2,5
6 19 14 25 10 19 12 G 1/4”A 3.9
8 19 17 25 10 19 12 G 1/4”A 4,5 04MBSPCS-08MDL-NNC  7324-0061
8 14 17 23 85 14 8 G 1/8"A 29
8 22 17 26 11,56 22 12 G 3/8”A 59
10 19 19 26 11 19 12 G _1/4”A 4,7 04MBSPCS-10MDL-NNC  7324-0031
10 2'50 22 19 27 125 22 12 G 3/8"A 6,2
10 27 19 28 13 27 14 G 1/2”A 9,2
12 22 22 27 125 22 12 G 3/8"A 6,9 06MBSPCS-12MDL-NNC _ 7324-0029
12 19 22 27 12 19 12 G 1/4”A 5,8 08MBSPCS-12MDL-NNC  7324-0037
12 27 22 28 13 27 14 G 1/2”A 9,4 04MBSPCS-12MDL-NNC  7324-0008
15 27 27 29 14 27 14 G 1/2”A 11,5 08MBSPCS-15MDL-NNC  7324-0024
15 24 27 29 13,5 22 12 G 3/8”A 9,7 06MBSPCS-15MDL-NNC  7324-0026
18 27 32 31 145 27 14 G _1/2”A 13,2 08MBSPCS-18MDL-NNC  7324-0020
18 L 32 32 31 14,5 32 16 G 3/4”A 17,4
18 160 41 32 32 15,5 40 18 G1” A 19.2 18MDL-16MBSPCS-NNC  7324-0022
22 32 36 33 16,5 32 16 G 3/4”A 18,5
28 4 411 34 17,5 40 18 G1” A 25,9
35 1'60 50 50 39 17,5 50 20 G11/4” A 42,2
42 55 60 42 19 55 22 G11/2”A 56,9
6 19 17 28 13 19 12 G 1/4”A 5,0
8 19 19 30 15 19 12 G 1/4”A 55 04MBSPCS-08MDH-NNC 7324-0057
8 22 19 30 155 22 12 G 3/8”A 7,8
10 22 22 31 15 22 12 G 3/8"A 8,8
10 S 19 22 31 145 19 12 G 1/4”A 7,3
10 630 27 22 34 17,5 27 14 G 1/2”A 12,9
12 22 24 33 17 22 12 G 3/8”A 10,0 06MBSPCS-12MDH-NNC  7324-0048
12 22 24 33 16,5 19 12 G 1/4”A 9,3
12 27 24 34 17,5 27 14 G 1/2”A 13,6 08MBSPCS-12MDH-NNC  7324-0047
14 27 27 37 19 27 14 G _1/2”A 14,8
16 27 30 37 18,5 27 14 G 1/2”A 16,1 08MBSPCS-16MDH-NNC  7324-0023
16 27 30 36 18 22 12 G 3/8”A 15,2
16 S 32 30 39 20,5 27 16 G 3/4"A 22,2
20 400 32 36 42 20,5 32 16 G 3/4"A 25,3 12MBSPCS-20MDH-NNC  7324-0054
25 41 46 47 23 40 18 G1” A 46,5 16MBSPCS-25MDH-NNC  7324-0019
25 41 46 47 23 27 14 G 1/2”A 45,0
30 S 50 50 50 235 50 20 G11/4” A 63,5
38 250 55 60 57 26 55 22 G11/2” A 87,0 24MBSPCS-38MDH-NNC _ 7324-0018
2R RRMABKEZRITERMARKE /L1 = approximate length with nut tightened
* AHRE KM / * FPM (e.g. Viton) upon request 3



?cf&plings GateS EM B

SME i B iE RS Male Stud Couplings
iT5KF5: XAC /WD order code: XAC / WD
SHOELL Stud thread:
PN B IR B R E metric, parallel with captive seal:
NBR* (e.g. Perbunan) NBR* (e.g. Perbunan)
; Series
Pipe :
O.%. B . Weight/ Product description Gate code
R PN S S, L, Iy d, [ G hundred B £ RED
e HE SEHER RS A
Eh
6 14 14 23 85 14 8 M10x 1 2,5
8 17 17 25 10 17 12 M12x1,5 4,0
10 19 19 26 11 19 12 M14x1,5 49 14MMCS-10MDL-NNC  7324-0050
12 L 22 22 27 12,5 22 12 M16x 1,5 6,8
12 250 24 22 27 12,5 24 12 M18x1,5 74
12 27 22 29 14 27 14 M22x1,5 10,3 22MMCS-12MDL-NNC  7324-0030
15 24 27 29 1356 24 12 M18x 1,5 9,5 18MMCS-15MDL-NNC  7324-0025
15 27 27 30 15 27 14 M22x1,5 12,0 22MMCS-15MDL-NNC _ 7324-0027
18 L 27 32 31 145 27 14 M22x1,5 13,7 22MMCS-18MDL-NNC  7324-0021
22 160 32 36 33 16,5 32 16 M26 x 1,5 18,8
28 41 41 34 17,5 40 18 M33x2 25,8
35 1'60 50 50 39 17,5 50 20 M 42 x 2 42,0
42 55 60 42 19 55 22 M 48 x 2 57,5
6 17 17 28 13 17 12 M12x1,5 4,7
8 19 19 30 15 19 12 M14x1,5 6,5
10 620 22 22 31 15 22 12 M16 x1,5 8,6
12 24 24 33 17 24 12 M18x1,5 10,9
14 27 27 37 19 26 14 M20x1,5 14,8
16 27 30 37 18,5 27 14 M22x1,5 16,6
20 430 32 36 42 20,5 32 16 M27 x2 25,3
25 41 46 47 23 40 18 M33x2 46,5 33MMCS-25MDH-NNC  7324-0040
30 S 50 50 50 23,5 50 20 M 42 x 2 64,4
38 250 55 60 57 26 55 22 M 48 x 2 87,3

BRI RREMABKEZ]ITRRMARKE / L1 = approximate length with nut tightened
* AHRE KR /* FPM (e.g. Viton) upon request



Gates EM B Coupli?fji

MRS B E L Male Stud Couplings
IT5F5: XAC/UNF/UN order code: XAC/UNF/UN
SHOEL Stud thread:
UNF/UNZ S0 B UNF/UN with O-ring-seal
;0 1SO 11926-2 and 3 Stud I1SO 11926-2 and 3
.. Series
Pipe :
O.D. 51 d i | L s s G O-ring mﬁlgrheté Product description ~ Gate code
mg AN o * OBE  gopps IR BRRE
IhE EH
8 14 9 10 25 17 17 7/16-20 UNF-2A 8,92 x 1,83 3,6
10 14 9 11 26 17 19 7/16-20 UNF-2A 8,92 x 1,83 4,2
12 L 17 10 11 26 19 22 9/16-18 UNF-2A 12,00 x 2,00 5,6
12 250 22 11 13 28 24 22 3/4 -16 UNF-2A 16,36 x 2,21 7,6
12 27 12,7 143 29 27 22 7/8 -14 UNF-2A 19,18 x 2,46 10,1
15 22 11 14 29 24 27 3/4 -16 UNF-2A 16,36 x 2,21 9,7 08MB-15MDL-NNC  7324-0028
15 27 12,7 1583 30 27 27 7/8 -14 UNF-2A 19,18 x 2,46 12,0
18 22 11 1456 31 27 32 3/4 -16 UNF-2A 16,36 x 2,21 13,1
18 L 27 12,7 148 31 27 32 7/8 -14UNF-2A 19,18 x 2,46 13,7
22 27 12,7 168 33 32 36 7/8 -14UNF-2A 19,18 x2,46 18,0
—=— 160
22 32 15 16,5 33 32 36 11/16-12UN -2A 23,47 x 2,95 18,8
22 41 15 175 34 41 36 15/16-12UN -2A 29,74 x2,95 24,8
28 32 15 175 34 41 41 11/16-12UN -2A 23,47 x 2,95 25,2
28 L 41 15 175 34 41 41 15/16-12UN -2A 29,74 x 2,95 26,2
35 41 15 17,5 39 46 50 15/16-12 UN -2A 37,46 x 2,95 37,6
— 100
35 50 15 17,5 39 50 50 15/8 -12UN -2A 37,46 x 3 41,0
42 50 15 19 42 55 60 15/8 -12 UN -2A 37,46 x3 57,6
8 14 9 15 30 17 19 7/16-20 UNF-2A 8,92 x 1,83 54

10 S 1710 145 31 19 22 9/16-18 UNF-2A 12,00 x 2,00 7,4
12 630 _17 10 145 31 22 24 9/16-18 UNF-2A 12,00 x 2,00 8,6

12 22 11 17,56 34 24 24 3/4 -16 UNF-2A 16,36 x 2,21 10,9
16 22 11 155 34 24 30 3/4 -16 UNF-2A 16,36 x 2,21 18,5
16 27 12,7 188 37 27 30 7/8 -14UNF-2A 19,18x2,46 16,4
20 22 11 20,5 42 32 36 3/4 -16 UNF-2A 16,36 x 2,21 24,0
20 430 27 12,7 208 42 32 36 7/8 -14 UNF-2A 19,18x2,46 252
20 32 15 20,5 42 32 36 11/16-12UN -2A 23,47x2,95 26,0
25 32 15 23 47 36 46 11/16-12UN -2A 23,47 x2,95 425
25 41 15 23 47 41 46 15/16-12UN -2A 29,74x295 47,7
30 41 15 23,5 50 46 50 15/16-12UN -2A 29,74x2,95 56,3
30 220 50 15 23,5 50 50 50 15/8 -12UN -2A 37,46 x 3 63,4
38 50 15 26 57 55 60 15/8 -12UN -2A 37,46 x3 89,4




gﬁplings Gates EM B

¥ 1
EidkEsL Straight Couplings
iT#RF3: XEC order code: XEC
Series )
Pipe0.D. 2 s s L mﬁ'ggé Product description Gate code
mEsne L * 1 " gEpEs 7= ik E S
Eh

2 9 10 31 12 14

6 o 11 12 32 9 21

8 12 14 35 12 26

6 12 14 39 10 35

8 14 17 40 11 4.9
10 250 17 19 42 13 6,9
12 19 22 43 14 8,5
15 24 27 46 16 13,8
18 L 27 32 48 16 19,5
22 160 32 36 52 20 26,2
28 4 4 54 21 31,5
35 150 46 50 63 20 49,4
42 55 60 66 21 72,8

6 14 17 45 16 5.9

8 17 19 47 18 78
10 650 19 22 49 17 11,0
12 22 24 51 19 13,6 12MDH-12MDH-NNC__ 7324-0049
14 24 27 57 22 18,2
16 27 30 57 21 223
20 200 32 36 66 23 34,7
25 4 46 74 26 66,9
30 s 46 50 80 27 80,9
38 250 55 50 90 29 119.4

L1 = 12847 R R ABKE / L1 = approximate length with nut tightened



Gates EM B Coupli?fji

— A
gl il
|

HiElRtriEL Straight Bulkhead
Connections
iTHRREG: XKC order code: XKC
; Series
Pipe .
0O.D. A3 mﬁ'ggté Product description ~ Gate code
g PNOM S S S L L D L A HAD
EAh
6 M12x1,5 17 14 17 22 7 16 42 27 6,7
8 L M 14x1,5 19 17 19 23 8 16 42 27 8,4
10 250 M 16x1,5 22 19 22 25 10 16 43 28 11,0
12 M18x1,5 24 22 24 25 10 16 44 29 13,3
15 M22x1,5 27 27 30 27 12 16 46 31 22,8

18 L _M26x1,5 32 32 36 30 135 16 49 325 33,2 18MDL-18MDLBKHD-NNC 7324-0041
22 160 M 30x2 36 36 41 33 16,5 16 51 34,5 41,5

28 M 36x2 41 41 46 35 18,5 16 52 35,5 52,5
35 1'60 M 45x2 50 50 55 40 18,5 16 58 36,5 80,0
42 M 52x2 60 60 65 42 19 16 59 36 119.3
6 M14x1,5 19 17 19 27 12 16 44 29 9,6
8 M16x1,5 22 19 22 28 13 16 44 29 12,4
10 6%0 M18x1,5 24 22 24 31 145 16 46 29,5 18,1
12 M20x1,5 27 24 27 31 145 16 47 30,5 21,0  12MDH-12MDHBKHD-NNC 7324-0046
14 M22x1,5 30 27 30 35 17 16 50 32 29,0
16 M24x1,5 32 30 32 35 16,5 16 50 31,5 31,0  16MDH-16MDHBKHD-NNC 7324-0045
20 420 M 30x2 41 36 41 39 17,5 16 55 33,5 54,5
25 M 36x2 46 46 46 44 20 16 59 35 89,0  25MDH-25MDHBKHD-NNC 7324-0002

30 S _M42x2 50 50 50 48 215 16 64 37,5 107,7
38 250 M 52x2 65 60 65 53 22 16 68 37 173,0

L1+L342 847 R /R M AF I E / L1+L3 = approximate length with nut tightened




L

Couplings

aiARE Rk

iT#4X#3: XVB DKOC

Gates EMB

Adjustable male stud

elbow
order code: XVB DKOC

A DIN3865 Y H#EH & OZL B

2{NBR OZL[E (fjltnPerbunan) ATIRER

with taper and O-ring to DIN 3865

Supplied with fitted NBR O-ring

RIEABOEE (e.g. Perbunan), FPM O-ring
(e.g. Viton) supplied on request

f Series
Pipe .
0.D. #31 L L s s S hwuigrheté O-ring Product description Gate code
Mg SN " gEuse OLE P i ERAT
ME By

6 26 27 12 12 17 14 4,0 4 x1,5

8 L 275 29 14 12 17 17 515 6 x1,5

10 250 29 30 15 14 19 19 7,1 7,5x1,5

12 295 32 17 17 22 22 9,6 9 x1,5 12FDLORX-12MDL90-NNC  7324-0039
15 32,5 36 21 19 27 27 16,6 12 x2 15FDLORX-15MDL90-NNC  7324-0038
18 L 35,5 40 235 24 32 32 23,6 15 x2 18FDLORX-18MDL90-NNC  7324-0011
22 160 38,5 44 27,5 27 36 36 32,7 20 x2

28 L 41,5 47 30,5 36 41 41 52,4 26 x2

35 100 51 56 345 41 50 50 68,8 32 x2,5

42 56 63 40 50 60 60 108,0 38 x2,5

6 27 31 16 14 17 17 6,2 4 x1,5

8 s 275 32 17 17 19 19 7,4 6 x1,5 08FDHORX-08MDH90-NNC 7324-0056
10 630 30 34 17,5 19 22 22 11,3 7,5x1,5

12 31 38 215 22 24 24 14,0 9 x1,5

14 35 40 22 19 27 27 19,3 10 x2

16 s 365 43 245 24 30 30 25,8 12 x2 16FDHORX-16MDH90-NNC  7324-0003
20 400 445 48 26,5 27 36 36 40,3 16,3x2,4

25 50 54 30 36 46 46 75,1 20,3x2,4 25FDHORX-25MDH90-NNC  7324-0042
30 S 55 62 355 41 50 50 96,4 25,3x2,4

38 250 63 72 41 50 60 60 142,5 33,3x2,4 38FDHORX-38MDH90-NNC _ 7324-0043

L = $2 87 R E B ABHEE / L= approximate length with nut tightened



Gates EMB

sk
Couplings

oA R TRk

iT#4X#3: XVC DKOC

Adjustable equal tee

order code: XVC DKOC

F&DIN3865 R HEE R OZL B
$2{#NBR OZU[E (fjlanPerbunan) AT#RER
RILFAFAORE (HfnViton)

with taper and O-ring to DIN 3865
Supplied with fitted NBR O-ring
(e.g. Perbunan), FPM O-ring

(e.g. Viton) supplied on request

Pipe Series )

O.D. ’zf’z” L L | s S s hwuﬁlgretc/i O-ring Product description Gate code
=3 2 1 3 J = iy
ZTE HE EEHES OZYE FEEREIA ES ez

EAh
6 26 27 12 12 17 14 58 4 x1,5
8 27,5 29 14 12 17 17 7.9 6 x1,5 08MDL-08MDL-08FDLORX-NNC 7324-0067
10 2'50 29 30 15 14 19 19 10,1 7,5x1,5
12 295 32 17 17 22 22 13,5 9 x1,5
15 32,5 36 21 19 27 27 23,3 12 x2
18 L 35,5 40 23,5 24 32 32 33,2 15 x2
22 160 38,5 44 275 27 36 36 44,6 20 x2
28 41,5 47 30,5 36 41 41 70,2 26 x2
35 1'60 51 56 345 41 50 50 96,1 32 x2,5
42 56 63 40 50 60 60 146,1 38 x2,5
6 27 31 16 14 17 17 8,7 4 x1,5
8 275 32 17 17 19 19 11,8 6 x1,5
10 6§O 30 34 17,5 19 22 22 16,3 7,5x1,5
12 31 38 215 22 24 24 20,6 9 x1,5
14 35 40 22 19 27 27 28,1 10 x2
16 365 43 245 24 30 30 37,3 12 x2
20 43‘0 445 48 265 27 36 36 56,8 16,3x2,4
25 50 54 30 36 46 46 107,9 20,3x2,4
30 S 55 62 355 41 50 50 136,3 25,3x2,4
38 250 63 72 4 50 60 60 203,6 33,3x2,4

L = $2 87 R E B ABHEE / L= approximate length with nut tightened



?cf&plings GateS EM B

\ r;_] F o AT ™ ]

l|' 1l .
[y w— gy

o] i [a LAY HEsL Adjustable male stud
tee-stud barrel

iT#{R#3: XVD DKOC order code: XVD DKOC

A DIN3865 Y H#EH & OZL B with taper and O-ring to DIN 3865

ZENBR OB (fjlnPerbunan) AT#ZEX  Supplied with fitted NBR O-ring

RSO (flanViton) (e.g. Perbunan), FPM O-fing

(e.g. Viton) supplied on request

Pipe Seriels )
O.D. #31 L L S s S L th?wlggc/i O-ring Product description Gate code
% s % T gapms ONE P i ERRE
"= &R

6 26 27 12 12 17 14 53 538 4 x1,5

8 L 275 29 14 12 17 17 56 7,9 6 x1,5 08FDLORX-08MDL-08MDL-NNC _7324-0060
10 250 29 30 15 14 19 19 59 10,0 7,5x1,5 10FDLORX-10MDL-10MDL-NNC _ 7324-0059
12 295 32 17 17 22 22 62 13,4 9 x1,5 12FDLORX-12MDL-12MDL-NNC _ 7324-0034
15 32,5 36 21 19 27 27 70 23,3 12 x2 15FDLORX-15MDL-15MDL-NNC  7324-0033

18 L 355 40 235 24 32 32 76 33,2 15 x2 18FDLORX-18MDL-18MDL-NNC  7324-0010
22 160 385 44 275 27 36 36 83 44,3 20 x2

28 41,5 47 30,5 36 41 41 91 70,2 26 x2

35 1'60 51 56 34,5 41 50 50 111 94,5 32 x2,5

42 56 63 40 50 60 60 123 146,3 38 x2,5

6 27 31 16 14 17 17 58 9,1 4 x1,5

8 27,5 32 17 17 19 19 61 11,8 6 x1,5

10 6§0 30 34 17,5 19 22 22 66 16,4 7,5x1,5

12 31 38 21,5 22 24 24 71 20,7 9 x1,5

14 35 40 22 19 27 27 76 28,1 10 x2

16 36,5 43 245 24 30 30 80 38,2 12 x2 16FDHORX-16MDH-16MDH-NNC 7324-0052
20 430 445 48 26,5 27 36 36 93 58,3 16,3x2,4 _ 20FDHORX-20MDH-20MDH-NNC 7324-0051
25 50 54 30 36 46 46 105 107,8 20,3x2,4  25FDHORX-25MDH-25MDH-NNC  7324-0044

30 S 55 62 355 41 50 50 119 138,0 25,3x2,4
38 250 63 72 41 50 60 60 139 205,1 33,3x2,4

L+, = 2847 E R R ABUKE / L+L, = approximate length with nut tightened

10



Gates EM B Coupli?fji

o] ifE [ B @ e sk Stud standpipe
adaptor
iT8REg: XVA DKOC/WD order code: XVA DKOC/WD
5 & DIN3865RYH#EH R OB E with taper and O-ring to DIN 3865
24 Thread:
BSPZHIEI2M & K E 3. NBR B.S.P, parallel with captive seal: NBR
1RHNBR OZL[E (fjlanPerbunan) AT#ZEXK  (e.g. Perbunan) FPM (e.g. Viton)
IRIEAESATOEE (fFlanvitont) upon request
.. Series
Pipe :

0.D. ,Iffl“ L4 s b g s s mﬁ'ggé O-ring  Product description  Gate code
s 7 1 1 1 1) [ = 2L
?IX-J‘?%* e sEpusgs ONE Va5 3% ERNED

= Eh

6 245 8 14 G 1/8"A 6 Mi12x1,5 14 17 2,4 4 x1,5

8 295 12 19 G 1/4”A 8 M14x15 19 17 44 6 x1,5
10 L 275 12 19 G 1/4"A 10 M16x1,5 19 19 4,7 7,5x1,5
12 250 245 12 19 G 1/4"A 12 M18x1,5 19 22 6,8 9 x1,5 04MBSPCS-12FDLORX  7324-0006
12 34 12 22 G 3/8"A 12 M18x15 22 22 6,9 9 x15
15 27 14 27 G 1/2"A 15 M22x1,5 27 27 12,1 12 x2 08MBSPCS-15FDLORX  7324-0036
18 L 285 14 27 G 1/2"A 18 M26x1,5 27 32 13,4 15 x2 08MBSPCS-18FDLORX  7324-0035
22 160 325 16 32 G 3/4°A 22 M30x2 32 36 196 20 x2
28 35 18 40 G1” A 28 M36x2 4 41 360 26 x2

35 1'50 425 20 50 G11/4"A 35 M45x2 50 50 455 32 x25
42 465 22 55 G11/2"A 42 M52x2 55 60 662 38 x25
G 1/4"A 6 M14x15 19 17 45 4 x1,5
G 1/4”A 8 M16x15 19 19 50 6 x1,5 04MBSPCS-08FDHORX  7324-0058
S G 3/8A 10 M18x15 22 22 7.4 7,5x1,5
12 630 _34 12 22 G 3/8A 12 M20x15 22 24 82 9 x1,5
12 345 14 27 G 1/2"A 12 M20x15 27 24 15,3 9 x1,5
G
G
G

12"A 14 M22x15 27 27 126 10 x2

12"A 16 M24x15 27 30 146 12 x2

400 3/4"A 20 M30x2 32 36 221 16,3x2,4 12MBSPCS-20FDHORX  7324-0055
25 48 18 40 G1” A 25 M36x2 41 46 402  203x2,4

30 S 51 20 50 G11/4"A 30 M42x2 50 50 582 253x24

38 250 60 22 55 G11/2’A 38 M52x2 55 60 786  33.3x24

1



L

Couplings

Gates EMB

(
;
o
AR EEREk

iT#4X%3: XEDKOC

Straight connection

with taper
order code: XEDKOC

PifH 5 A DIN3865 I R ORI B 15 &

DIN3865H! I & OZL &

2{NBR OZL[E (fjltnPerbunan) ATIRER

REFFIORE (flanviton)

taper on both ends and O-ring to DIN 3865
Supplied with fitted NBR O-ring

(e.g. Perbunan) FPM (e.g. Viton) upon
request

; Series
Pipe Z35)|
O.D. - L L s O-ring Product description Gate code
g i 1 : ' O P i ERRT
HME Eh
6 33 36 17 4 x1,5
8 L 33 36 17 6 x1,5
10 250 35 37 19 7,5x1,5
12 35 37 22 9 x1,5
15 36 38 27 12 x2 15FDLORX-15FDLORX 7324-0007
18 L 39,5 42,5 32 15 x2
22 160 44 47 36 20 x2
28 L 46 49 41 26 x2
35 100 52 58 50 32 x2,5
42 52 59 60 38 x2,5
6 36 39 17 4 x1,5
8 s 36 39 19 6 x1,5
10 630 40 43 22 7,5x1,5
12 4 44 24 9 x1,5
14 44 48 27 10 x2
16 s 45 50 30 12 x2
20 400 54 60 36 16,3x2,4
25 59 66 46 20,3x2,4
30 S 63 73 50 25,3x2,4
38 250 68 83 60 33,3x2,4

12



Gates EM B Coupli?fji

HHE T EHFREL Gauge couplings

with taper
HEEHIR(dKi): XVO DKOC with seal-edge ring (dki): XVO DKOC
FFADIN3865H#EE K OB with taper and O-ring to DIN 3865
/2% IR T 514 Ordering example for sealing ring 1/2:
DKIR 1/2” DKIR 1/2”
f Series
Pipe .
O.D. #31 | d t s s h G O-ring th?wlgpetc/i Product description Gate code
mg gN v % v OB gongm P i BRI
M KR
6 38 25 145 19 17 45 G1/4” 4 x15 4,6
8 L 38 40 145 19 17 45 G1/4” 6 x1,5 53
10 250 _ 3955 55 145 19 19 45 G1/4”  7,5x1,5 6,2 only European Gates PN 7324-0066
12 405 55 145 19 22 45 G1/4” 9 x15 7,0 only European Gates PN __7324-0032
6 45 2,5 20 27 17 5 G1/2” 4 x1,5 10,5
8 S 45 4,0 20 27 19 5 G1/2” 6 x1,5 10,7
10 630 47 6,0 20 27 22 5 G1/2” 7,5x1,5 12,5
12 475 70 20 27 24 5 G1/2" 9 x15 134

FH IR $E32 1t / supplied with sealing ring

13



L
Couplings

S
Biag

TRTEEL

iT#453: XRIC

Gates EMB

ITHER

3/8-1/8

RIZ&EHEESL

SMESLG,
miZHG,

Ordering example
Reducer - RI 3/8-1/8

Male thread G,
Female thread G,

Reducing adaptor

Order code: XRIC

BSPZEHIEIRL
p::m] =R
HitR~F RIRGUEES

B.S.P. parallel
stud face form B;
other sizes and threads on request

Male thread Female thread ppg Weight/ Product description Gate code
shigar MER  (gR i S d, t  hundred PSR sy
G, G, i) SEHER B, AR
G _3/8"A G _1/8” 250 225 12 22 22 8 4,0
G _1/2"A G _1/8” 160 24 14 27 26 8 6,0
G _1/2"A G _1/4” 160 24 14 27 26 12 6,0
G 3/4"A G 1/4” 160 26 16 32 32 12 9,5
G 3/4"A G 3/8” 160 26 16 32 32 12 9,0
G1” A G 1/4” 160 29 18 41 39 12 20,0
G1” A G_3/8” 160 29 18 41 39 12 18,0
G1” A G 1/2” 160 29 18 41 39 14 16,0 16MBSPCS-08FBSP  7324-0017
G11/4"A G 1/2” 100 32 20 50 49 14 31,0
G11/4”A G 3/4” 100 32 20 50 49 16 27,0
G11/2”A G _1/2” 100 36 22 55 55 14 47,0
G11/2”A G 3/4” 100 36 22 55 55 16 43,0
G11/2" A G1” 100 36 22 55 55 18 34,5

14



Gates EM B Coupli?fji

- . ITEERBI

e T " RIZ 24k 1/8-3/8
_‘ l SMESG, | |

MIELG,

Ordering example

! ; T Reducer - RI 1/8 - 3/8

I Tr— Male thread G,
s - Female thread G,

2T EREESL Reducing adaptor
iTHRA8: XRIC Order code: XRIC
BSP3EH| EH2L B.S.P. parallel
BEHO; stud face form B;
Hip R~ RIELiEEH other sizes and threads on request
Male thr‘ead Female thread PB . Weight/ Produf_t deSf:ljiptiOn Gate code
SMRLL L2 = N | i S d d, t  hundred PRI S
G, G, Eh SEHER GG, S5
G 1/8"A G _1/4” 250 31 8 19 4 14 17 3,6
G 1/8"A G 3/8” 250 32 8 24 4 14 17 4,5
G 1/4"A G 1/8” 250 28 12 19 5 18 12 3,6
G 1/4"A G 3/8” 250 36 12 24 5 18 17 6,6
G 1/4”A G 1/2” 250 40 12 30 5 18 20 8,5
G 1/4"A G 34 160 43 12 36 5 18 22 17,3
G 3/8"A G 14 250 36 12 22 8 22 17 3,0
G 3/8"A G 1/2” 250 41 12 30 9 22 22 9,0 06MBSPCS-08FBSP _ 7324-0068
G 3/8"A G 34 160 44 12 36 8 22 22 17,5
G 1/2"A G 3/8” 160 36 14 27 12 26 17 9,5
G 1/27A G 34 160 46 14 36 12 26 22 18,0
G 1/27A G1” 160 49 14 a4 12 26 245 225
G 1/27A G11/4” 100 53 14 55 10 26 26,5 47,0
G _3/47A G _1/2” 160 41 16 32 16 32 20 15,0
G _3/4A G1” 160 51 16 41 16 32 245 235
G 3/47A G11/4” 100 55 16 55 16 32 26,5 483
G 3/47A G11/2” 100 57 16 60 16 32 285 545
G1” A G 34 160 47 18 41 20 39 22 28,0
G1” A G11/4” 100 57 18 55 20 39 26,5 51,0
G1” A G11/2” 100 59 18 60 20 39 285 56,5
G11/4”A G1” 100 52 20 50 25 49 245 455
G11/4”A G11/2” 100 60 20 60 25 49 28,5 58,0
G11/2”A G11/4” 100 _ 58 22 55 32 55 26,5 530

15



L

Couplings

| Th' |

-m'l' !’/_)_. 4 r\; 1

iT#4X%3: XRLDKOC

Gates EMB

T8RP
ordering example:

]

TR
reducing connection

LA&F
Series L

HHE RO

with taper and O-ring

MAEEHE D1=350

R L DKO 35/12

existing connection D 1 =35 @

TEEE D2=120

reduced connectionD 2 =12 @

Reducing connections

with taper
Order code: XRLDKOC

FF & DIN3865H & OZ! [ 75 & DIN3865
R R OB &

$2ENBR OZLE (filanPerbunan) AIHRER
RIEFARALORLE (fsnViton)

with taper and O-ring to DIN 3865
Supplied with fitted NBR O-ring
(e.g. Perbunan), FPM O-ring

(e.g. Viton) supplied on request

Series
Plpke O',D' A5l O-ring Weight/  pyogyct description ~ Gate code
BEME py L s s, s q, ey e DA e
b, D, HE Y gEHER rraRiRE AR
EAN

8 6 38 235 12 14 17 M 14x1,5 6 x1,5 3,9
10 6 395 25 14 14 19 M 16x1,5 7,5x1,5 4,9
10 8 395 25 14 17 19 M 16x1,5 7,5x1,5 53
12 6 395 25 17 14 22 M 18x1,5 9 x1,5 6,3
12 8 L 395 25 17 17 22 M 18x1,5 9 x1,5 6,8
12 10 250 405 26 17 19 22 M 18x1,5 9 x1,5 7,0
15 6 435 29 22 14 27 M22x1,5 12 x2 55
15 8 435 29 22 17 27 M22x1,5 12 x2 9,8
15 10 44 29,5 22 19 27 M22x1,5 12 x2 10,7
15 12 44 295 22 22 27 M22x1,5 12 x2 11,0 15FDLORX-12MDL-NNC  7324-0016
18 6 425 28 24 14 32 M26x1,5 15 x2 11,9
18 8 425 28 24 17 32 M26x1,5 15 x2 12,4
18 10 46,5 325 24 19 32 M26x1,5 15 x2 12,8 18FDLORX-10MDL-NNC  7324-0062
18 12 435 29 24 22 32 M26x1,5 15 x2 17,2
18 15 45 30 24 27 32 M26x1,5 15 x2 19,0
22 6 1 IéO 46,5 32 27 14 36 M 30x2 20 x2 16,9
22 8 46,5 32 27 17 36 M 30x2 20 x2 17,6
22 10 475 33 27 19 36 M 30x2 20 x2 17,8
22 12 475 33 27 22 36 M 30x2 20 x2 18,6
22 15 49 34 27 27 36 M 30x2 20 x2 20,8
22 18 495 335 27 32 36 M 30x2 20 x2 24,4

16



Gates EMB

iT#4X%3: XRLDKOC

ek

Couplings

T8RP
ordering example: R L DKO 35/12

TEER

reducing connection

LA&F
Series L
o HEE ROEIE

with taper and O-ring

HEEZE D1=350
existing connection D 1 =35 @

TZEE D2=120
reduced connectionD 2 =12 @

Reducing connections

with taper
Order code: XRLDKOC

FF & DIN3865H & OZ! [ 75 & DIN3865
R R OB &

$2ENBR OZLE (filanPerbunan) AIHRER
RIEFARALORLE (fsnViton)

with taper and O-ring to DIN 3865
Supplied with fitted NBR O-ring
(e.g. Perbunan), FPM O-ring

(e.g. Viton) supplied on request

Series
Plpke O',D' A5l O-ring Weight/  pyogyct description ~ Gate code
BEME py L s s, s q, ey e DA e
b, D, HE Y gEHER rraRiRE AR
EAN

28 6 48,5 34 36 14 41 M 36x2 26x2 29,3

28 8 485 34 36 17 41 M 36x2 26x2 29,3

28 10 495 35 36 19 41 M 36x2 26x2 29,9

28 12 495 35 36 22 41 M 36x2 26x2 30,8

28 15 51 36 36 27 41 M 36x2 26x2 33,0

28 18 515 355 36 32 41 M 36x2 26x2 38,3

28 22 535 375 36 36 41 M 36x2 26x2 39,1

35 6 515 37 46 14 50 M 45x2 32x2,5 33,2

35 8 51,5 37 46 17 50 M 45x2 32x2,5 33,7

35 10 52,5 38 46 19 50 M 45x2 32x2,5 34,2

35 12 52,5 38 46 22 50 M 45x2 32x2,5 35,3

35 15 L 54 39 46 27 50 M 45x2 32x2,5 37,1

35 18 100 545 385 46 32 50 M 45x2 32x2,5 39,1

35 22 56,5 405 46 36 50 M 45x2 32x2,5 41,6

35 28 57 40,5 46 41 50 M 45x2 32x2,5 42,6

42 6 52 37,5 50 14 60 M 52x2 38x2,5 51,2

42 8 52 37,5 50 17 60 M 52x2 38x2,5 51,8

42 10 56 41,5 50 19 60 M 52x2 38x2,5 52,3

42 12 56 415 50 22 60 M 52x2 38x2,5 53,4

42 15 575 425 50 27 60 M 52x2 38x2,5 55,1

42 18 58 42 50 32 60 M 52x2 38x2,5 60,7

42 22 60 44 50 36 60 M 52x2 38x2,5 66,5

42 28 60,5 44 50 41 60 M 52x2 38x2,5 68,0

42 35 645 43 50 50 60 M 52x2 38x2,5 69,5

17



?cf&plings GateS EM B

= = T8l

ordering example: R S DKO 30/12
( 1 *»

TR
]
| . L | HHE RO

reducing connection
= |V e | with taper and O-ring
[ —— )_, ) |—\_.
\ J e HAEEED1=300
" - existing connection D 1 =30 @

LA&F
Series L

TEEED2=120
reduced connectionD 2 =12 @

TN REL Reducing connections
with taper
T84 ES: XRSDKOC Order code: XRSDKOC
FFADIN3865HIHEFE & OFL [ 7 & DIN3865 with taper and O-ring to DIN 3865
R R OB & Supplied with fitted NBR O-ring
IRHENBR OZLE (fjlanPerbunan) AT#REXK  (e.g. Perbunan), FPM O-ring
IR EBATORLE (filanViton) (e.g. Viton) supplied on request
. Series )
Plpke O',D' A5l O-ring Weight/ Product description ~ Gate code
WEAME py L 1S S s, d oo hundred 7=ttt ERED
D, b, HE =%  sExER FrER mRIE
Eh
8 6 415 27 14 17 19 M 16x1,5 6 x1,5 34
10 6 42 27,5 17 17 22 M 18x1,5 7,5x1,5 7,2
10 8 42 27,5 17 19 22 M 18x1,5 7,5x1,5 7,8
12 6 435 29 19 17 24 M 20x1,5 9 x1,5 8,3
12 8 S 46,5 32 22 19 24 M 20x1,5 9 x1,5 9,3 12FDHORX-08MDH-NNC 7324-0001
12 10 630 _455 295 19 22 24 M 20x1,5 9 x1,5 10,7
14 6 48 335 22 17 27 M22x1,5 10 x2 9,2
14 8 48 335 22 19 27 M22x1,5 10 x2 9,9
14 10 49 33 22 22 27 M22x1,5 10 x2 11,0
14 12 49 33 22 24 27 M22x1,5 10 x2 11,9
16 6 46,5 32 22 17 30 M24x1,5 12 x2 12,7
16 8 46,5 32 22 19 30 M24x1,5 12 x2 14,8
16 10 475 315 22 22 30 M24x1,5 12 x2 14,8
16 12 475 315 22 24 30 M24x1,5 12 x2 1858
16 14 50,5 33 24 27 30 M24x1,5 12 x2 16,3
20 6 50,5 36 27 17 36 M 30x2 16,3x2,4 18,9
20 8 50,5 36 27 19 36 M 30x2 16,3x2,4 20,5
20 10 51,5 355 27 22 36 M 30x2 16,3x2,4 20,6
20 12 S 56,5 405 27 24 36 M 30x2 16,3x2,4 21,3 20FDHORX-12MDH-NNC 7324-0065
20 14 400 545 37 27 27 36 M 30x2 16,3x2,4 23,2
20 16 545 36,5 27 30 36 M 30x2 16,3x2,4 25,9
25 6 53 38,5 36 17 46 M 36x2  20,3x2,4 30,8
25 8 53 38,5 36 19 46 M 36x2  20,3x2,4 31,9
25 10 54 38 36 22 46 M 36x2  20,3x2,4 33,2
25 12 54 38 36 24 46 M 36x2  20,3x2,4 33,4
25 14 57 39,5 36 27 46 M 36x2  20,3x2,4 35,1
25 16 60 42 36 30 46 M 36x2  20,3x2,4 37,3 25FDHORX-16MDH-NNC 7324-0064
25 20 60,5 39 36 36 46 M 36x2  20,3x2,4 43,6

18



Gates EM B Coupli?fji

= = T8l

ordering example: R S DKO 30/12
( 1 *»

TR
]
| . L | HHE RO

reducing connection
= |V e | with taper and O-ring
[ —— )_, ) |—\_.
\ J e HAEEED1=300
" - existing connection D 1 =30 @

LA&F
Series L

TEEED2=120
reduced connectionD 2 =12 @

TN REL Reducing connections
with taper
T84 ES: XRSDKOC Order code: XRSDKOC
FFADIN3865HIHEFE & OFL [ 7 & DIN3865 with taper and O-ring to DIN 3865
R R OB & Supplied with fitted NBR O-ring
IRHENBR OZLE (fjlanPerbunan) AT#REXK  (e.g. Perbunan), FPM O-ring
IR EBATORLE (filanViton) (e.g. Viton) supplied on request
, Series )
Plpke O',D' A5l O-ring Weight/ Product description ~ Gate code
WEAME py L 1S S s, d oo hundred 7=ttt ERED
D, b, HE =%  sExER FrER mRIE
Eh
30 6 58,5 44 41 17 50 M42x2  25,3x2,4 42,9
30 8 58,5 44 41 19 50 M42x2  25,3x2,4 43,1
30 10 59,5 435 41 22 50 M42x2  25,3x2,4 43,6
30 12 59,5 435 41 24 50 M42x2  25,3x2,4 44,3
30 14 62,5 45 41 27 50 M42x2  25,3x2,4 46,1
30 16 62,5 445 41 30 50 M42x2  25,3x2,4 48,7
30 20 66 445 41 36 50 M42x2  25,3x2,4 53,6
30 25 69 45 4 46 50 M42x2  25,3x2,4 67,3
38 6 2%0 62 47,5 50 17 60 M 52x2  33,3x2,4 70,8
38 8 62 47,5 50 19 60 M 52x2  33,3x2,4 71,0
38 10 63 47 50 22 60 M 52x2  33,3x2,4 71,4
38 12 63 47 50 24 60 M 52x2  33,3x2,4 72,0
38 14 66 48,5 50 27 60 M 52x2  33,3x2,4 74,3
38 16 66 48 50 30 60 M52x2  33,3x2,4 77,0
38 20 69,5 48 50 36 60 M 52x2  33,3x2,4 81,2
38 25 72,5 485 50 46 60 M52x2  33,3x2,4 85,0
38 30 755 49 50 50 60 M 52x2  33,3x2,4 87,8

19



gﬁ;le parts GateS E M B

gL Blanking plugs
iT5KF5: XVSCHC/WD Order code: XVSCHC/WD
A7~ R WD £ with internal hexagon and captive seal:
T KE# AL (e.g. Perbunan), NBR* (e.g. Perbunan),

$2405H MR 40 BSPEIRALK 2\ I BHIZLL Stud thread: BSP thread (parallel)

metric (parallel)

PN MA" i MA" o
. G D | i s i Product :eff:ﬂp ion G;ti c?de G D | i s in Product :eff:lflp ion G:i c?de
Ef NM iR ERRE NM iR =EXRB

M12x16 17 17 12 6 20 VSCH-M 12x1,5/WD
M14x16 19 17 12 6 30 VSCH-M 14x1,5/WD G 1/4A 19 17 12 6 30 04MBSPCSPlug  7324-0005
M16x16 22 17 12 8 40 VSCH-M 16x1,5/WD
M20x16 26 19 14 10 60 VSCH-M20x1,5/WD
M26x156 32 21 16 12 100 VSCH-M 26x1,5/WD

400

M27x2 32 21 16 12 120 VSCH-M27x2 /WD G 3/4"A 32 21 16 12 120 VSCH-R 3/4"WD
M10xt 14 12 8 5 10 VSCH-M10x1 /WD G 1/8"A 14 12 8 5 10 02MBSPCSPlug  7324-0014
M18x16 24 17 12 8 50 VSCH-M 18x1,5/WD G 3/8"A 22 17 12 8 40 06MBSPCSPlug  7324-0004
250 _M22x15 27 19 14 10 80 VSCH-M22x1,5WD G 1/2°A 27 19 14 10 80 08MBSPCSPlug  7324-0015
M42x2 50 225 16 22 350 42M MCSPlug 7324-0063 G11/4"A 50 225 16 22 350 VSCH-R11/4”/WD
M48x2 55 225 16 24 400 VSCH-M48x2 /WD G11/2"A 55 225 16 24 40 VSCH-R11/2"/WD
100 _M33x2 40 225 16 17 200 33M MCSPlug 7324-0000 G1” A 40 225 16 17 200 16MBSPCSPlug  7324-0013

*MA =178 H4%E, ERATFITABINMAA /* MA = Tightening torques, relate to counterpart made of stee

20



Gates EM B Single p?rfz

AN Model Size Bolt O-ring WeigEht Gate code
mE K e ol B owm ET saum
Eh RAD A D s, s, s, | L M kg
315 35 WF10LK35 L10 Mi6x1,5 40 165 31 47 7 64 5XME22 20x25 0,12
315 35 WF12LK35 L12 Misx15 40 165 81 47 7 64 oxMOX22 20005 0,13
250 35 WF15LK35 L15 M22x1,5 40 165 81 47 7 64 SXMOX2Z o0xp5 0,14  7324-0012
315 35 WF16LK35 S16 M24x1,5 40 20 295 48 85 64 oxMOX22 20x25 0,17
250 35 WF18LK35 L18 M26x1,5 40 20 295 48 85 64 ox MOX22 20xp5 0,22
315 35 WF20LK35 S20 M30x2 40 25 345 56 105 64 ox MOXeZ poxp5 0,27
315 35 WF22LK35 122 M30x2 40 25 345 56 105 64 o MO2Z 20x25 026

100 40 WF15LK40 L15 M22x1,5 42 22,5 31 47 7 6,4 4xM6x22 24x2,5 0,15

100 40 WF18LK40 L18 M26x1,56 42 22,5 305 47 75 6,4 4xM6x22 24x2,5 0,17

2x M6x22
250 40 WF20LK40 L20 MB30x2 42 225 295 50 105 6,4 2% M6x45 24x2,5 0,20

100 40 WF22LK40 L22 M30x2 42 225 305 47 75 6,4 4xM6x22 24x2,5 0,19

100 40 WF28LK40 L28 M36x2 42 28 325 49 7,5 64 XMOX22 5405 007 73240053

2x M6x50
100 40 WF35LK40 135 Md5x2 42 34 305 52 105 64 o MOX22 24x25 035
250 55 WF20LK55 L20 M30x2 58 24 345 56 105 84 axMOX2S 33505 043
250 55 WF22LK55 122 M30x2 58 24 355 57 75 84 axMOX2 5305 043
250 55 WF25LK55 L25 M36x2 58 30 87 61 12 84 oxMO2D 3325 049
250 55 WF30LKS55 130 M42x2 58 32 355 62 135 84 oxMOX23 3305 0,51
250 55 WF35LK55 L35 Md5x2 58 32 385 62 105 84 ox MOX2S 33x25 0,46
250 55 WF42LK55 L42 Ms2x2 58 40 38 61 11 84 oXMOXES 5305 061

21



£it

Notes

Gates EMB

22



Gates EMB

£i

Notes

23



E%XERSH (L9 FRAA

Heiib: EiEERFXEEIE10005 252165902
BiE:  (021) 50894400

fEE: (021) 50894466

BR4R: 201206

ERRERAR (BN BRAF

k. STHEE MBS
Hb4R: 213022

HIE: 86-519-89608028

2014-F-001C



